class notes = ChemiStry u:cenes, sanuary, 29, 2014

A certain recipe for sandwiches calls for:

2 breadslices + 3 anchovies - 1 sandwich

If your kitchen has 35 breadslices and 45 anchov1es ow many sandwiches can you
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R e ‘T X Steps of Solving a Limitng Reagent Problem 7 =
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2HCl g+ Ca(Oh)1 0> CaCly @) 2-HaO gyar—

How many grams of water are made when'0.656 g o each of hydrochlonc acid (HC1) and calcium
L hydroxide are mixed?
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1 This acid-base reaction fakes place in the stomach v\hen a person takes an antacid.
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Step 1) Convert the mass of each reactant into moles of product
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Step 2) The reaction can’t make 0.0180 and 0.0177 moles of HO. One reactant limits how
much product can be made. The limiting reactant (reagent) is the one that produces the
k least product.
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Step 3) Calculate the mass of product produced
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1. Calculate the answer in each case, writing both number and correct UNIT.

4 moles Fe 3 moles H, O 18.02 grams H, O
a. X X =
1
b.

2 moles Fe 1 moles H, 'O
(4 mL Fe) % (11 grams Fe) 5 ( 55.85 grams Fe) =
= —

2 mL Fe

1 mole Fe
o (% i % S No.1 i
% | 1 gross paperclips = 144 paperclips premium Paper Clips
4 . La Prime Trombones
X, f 1 paperclip =3.00 cm long prima Clips
% P, 1 paperclip = 0.977 grams 5623
% |
4 . 1
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2. Using only the information above, fill in these conversion factors !
1 box of paperclips = dollars
1 box of paperclips = paperclips
1 paperclip heart = paperclips
3. Using only the Equalities above, fill in the missing conversion factors and calculate the answer.
9 paperclip hearts grams
a. . X : = grams
1 clips
33 clips dollars
b. . (Z525) x ( )x( —)= dollars
1 boxes of clips
e
53 boxes of clips meters
Mare o ( A )x( )x( )= meters
Ste P 1 cm

d. ‘(13 d:llars) e ( ) 3 ( clips

boxes of clips) = C|IpS




: 4. Imagine that 100. grams of aluminum and 100 grams of chlorine gas ( remember:
I wacky 7 formula for the chlorine molecule...) react according to the following

: - stoichiometery -

: 2Al(s) + 3C12(g) = 2A1C13(s)

1 Which reagent will be the limiting reagent? How many grams of AlCl3will form?

Step 1) Convert the mass of each reactant into moles of product
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Step 2) Both of your statements in Step 1 can’t be right. The one that will actually happen is
the one that makes the least moles of product. Below this box write “The limiting reactant
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Step 3) Calculare the mass of product produced

]
and 60.50 grams grams of chlorine gas react according to the :
following stoichiometery i

2Al) + 3Clyg > 2AICL :
Which reagent will be the limiting reagent? How many grams of AlCl3will form? :
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